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If you are certain that he is coming prepared for murder

OVERVIEW

The X n3 interprets the p105 of "3 0P XY to mean as follows; if you are sure that
the robber intends to kill you, then you may kill him'; however if you are in doubt
(whether he intends to kill), you may not kill him®. The question of m521n seems to
be, why one may not kill the intruder (even) if he is not sure of his intention.
Seemingly it is a case of wdl MpP*d 90 of the homeowner; why should he not be
permitted to protect himself if there is a possibility that the intruder will kill him?!
MooIn addresses this issue.

*
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The >''1 and the X''2>7 maintain that this p1o5 of 31 %171 03P XY (according to
this ¥n»72) is discussing a case where the father is conspiring against his son to

rob him, and therefore in order for the son to be permitted to kill his father it is necessary to be
certain that the father is prepared to murder (the son). Otherwise if the son is unsure of his

father’s plans he may not kill him. The reason is -
— 1999 DINNY 11N INYS ON 1991 XY 1N DY ONIN AN ONDY

Because generally a father has mercy on his son and the father will not Kkill his

son (even) if the son will resist his father in order to protect his money -
— N2 NNNYY 99932 Y119V NON 1Y 15981Y 119 NI 799

And therefore in a case of 327 ¥ X277 282 the son is not permitted to protect
himself by taking the life of his father, unless he knows with certainty that his
father intends to Kill him if the son will resist.

mooIn intends to prove his point that the requirement of Xp MWIRT T2 RYWH is limited to a case
of 1271 v ax:
— *Ng99an YPINT (owr 3,3y 91 990 J12 P92 NIINNTD

"In this case the robber has the 17 of a 1377% 17°21 InX 5711 and anyone is permitted to kill the A7 in order to protect
the 7771 (if there is no other option [except killing him]).

2597 17" 72 " explains the X713 as follows. The case of 12 X ws >X’ refers to all situations (except N¥1°21] 127 7y a8
[12), and the case of 72 Rppon XY refers to the situation of 7277 Y 2.

3 999y X"PRTY 2T oW UYL

* It is not necessarily limited to the son. Anyone is permitted to take the life of the A 711 to protect the 72,

3 The X3 there (on §,2v) cites two NMin>12 which contradict each other: wnaw:s >31 Y5y waw:I 777 R 2°n7 12 PR "N
12 0O07 YOV WAWA 0T OX TR RPN VAN 9K XD ORI AT Ay 219w 17 PRY wawD 0277 T2 112 R ROX 077 7292 POy
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As this is evident in 9910 32 292 where the X713 establishes this following 8n>92 -
— N9 7253 Y 13 VNRYN 1YY NNIT ON NINT

Which we learnt; it says in the 771, ‘if the sun shone upon him’® (upon the

intruder); the X072 asks, did the sun shine only on him?! The xn»"2 responds:
—INX9N9 YN IND ON) 1IN THY DIYY 1Y PRY YNV Y 9993 ON NON

But rather the meaning of the P05 is as follows, if it is clear to you like the sun
that the intruder is not at peace with you, then you may Kill him, however if it is

not clear to you (you are in doubt), then you may not Kkill him. This concludes the
Xn>72. The X723 there establishes this X072 is discussing a case -

— 93N Yy ANa
where a father is intruding into the house of his son. Therefore the son may kill the
father only if he is certain that his father will kill him if he resists. Otherwise even if he is not
sure whether or not his father will kill him, he may not kill his father since the assumption is that

generally a father will not kill his son.
$ANN DY 123 5910 1HNINN KX THRY DIYY 1Y YIY TH 9992 ONX NINT XINM

And the &7723 establishes the other 8ns»92 which states ‘if you are certain that
the intruder is at peace with you do not Kkill him’, this X092 is discussing the

case where the son is intruding against the father. In this situation the father may kill
the son (and certainly strangers); unless he is certain that his son (or the stranger) will not kill him.

SUMMARY
If there is doubt whether the intruder will kill, then 327 ¥ 2X3, he may not be
killed; however by a8 ¥ 12 (and anyone else) the intruder may be killed.

THINKING IT OVER

"1 is interpreted by many to mean that 7% X0>wd °X is a general assumption (not a
particular or individual knowledge)7 that an intruder kills (except by 1277 ¥ 2X), and
T2 Xpoon X is the general assumption by 1277 ¥ ax (which is [seemingly] similar to
mooIn ruling)®. Why does moo1n not accept ™" interpretation?”

A7 KD ORY 1370 OR TRy 2w 10 WU wnwa T2 912 aR ROX a7 7292 1hY waws 00

6995 nw.

7 Our xn 2 (as opposed to the Mn™92 in 17710) seems to be addressing a third party (not the AT or the 577)
observing the incident (who may not have particular knowledge concerning the intimate relationship between the
robber and the homeowner). Therefore we follow the general assumption.

¥ There is seemingly an advantage in >"w7 over mMoWN. According to MO our Xn2 here is (merely) a repetition
of the (first) Xn»12 in P70 (discussing only 127 2 aR). However, according to "9 our Xn>12 is a more general
Xn»13, which covers all cases. See (also) previous footnote # 7.

? See 71 57 T (PO 11O0) WK MOOIN.
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